Chapter Five

Plato and Aristotle

A. Introduction

     1. Plato and Aristotle assigned reason a central role. This reflected the 

          Greek preoccupation with the difference between animals and humans.


a. Aristotle: Man is a rational animal


b. Plato believed that people could be highly rational animals and that 

              some actually are.

     2. Plato lived in Athens in the 5th-4th century BC.


a. He believed a good division among the parts of the human soul

              paralleled a good division among the classes of people in the 

              commonwealth.


b. The best part of the soul is reason.


c. Reason should govern the soul and the most reasonable people should 

              govern society.

     3. The soul for Plato also included a spiritual element and an appetitive 

         element. The spiritual element is known as the warrior class in society.


a. The appetitive element corresponded to farmers and producers of 

              goods as well as people who consume them.

     4. The principle of the primacy of reason is very attractive.


a. The harmony of reason can rid one of inner conflicts.


b. It also destroys neuroses, when a person is divided within themselves.

B. Plato’s use of Reason

     1. The possession of knowledge demands a defining of terms. However, 

         Plato is unable to give a clear definition of reason.


a. Wittgenstein’s logical positivism: He believed that it is not possible to 

              give entirely adequate definitions for ordinary terms. (Nominalism)


b. A name is not imposed at once and by previous purpose on a class of 

              objects, but is first appointed to one thing and then extended by a 

              series of transitions to another and another.
     2. Possible clear examples of reason:


a. Mathematical 2+2=4


b. Logical inferences  Deductive and Inductive.

     3. Knowledge of the Good


a. Value theory: The awareness of value and more broadly being able to 

              arrive at sound judgments of value represent intelligence at work. 

              The notion of goodness may be more intuitive of the person and it is 

              not as precise as mathematics.

     4. Examples of outlying uses of the concepts of “reason” and “being 

         rational”


a. When one makes a rash judgment, he is suggested to take a step back 

              and “listen to reason.”


b. One must try to separate emotions from reason to make more 

              balanced decisions.


c. There is a basis or ground for an evaluation as speaks of a reason.

C. Plato’s Position

     1. Plato makes an important distinction between what changed and what 
          remains the same. This is also described as the difference between 

          “being” and “becoming.”


a. His predecessor Heraclitus everything changes, or is in constant 

              “flux.” One must be flexible and open when approaching life if one is 

              to function intelligently in it.

b. Plato does not support Heraclitus because there are examples of real 

              knowledge that set the standard for what knowledge is. Forms and 

              Essences constitute reality. These are abstract and unchanging truths.

     2. The highest kind of knowledge is the knowledge of the Good.


a. In it, the knower becomes what is known. Knowledge of the good is 

              personally transformative.

D. Freud’s Approach to Personality

     1. The three part of the human psyche are the superego, the ego and the

          id.


a. Superego: the norm of right judgment of what constitutes acceptable 

              behavior.


b. Ego: The reflective sense of what is good and appropriate for me.


c. Id: The cravings and desires present in the human psyche.

     2. How does Freud’s approach compare to the three fold division of Plato?


a. The Ego for Freud would not correspond to reason for Plato, since for 

               him the superego would be reason and not the ego.


b. Plato’s Phaedrus talks about the two horses and the charioteer and 

              has some similarities with Freud.


c. Plato recognizes the value of both extremes because both are useful 

              and can play significant roles in life.


d. Lower desires are sources of energy. Thus the energy in them needs 

              to be sublimated in productive ways.

    3. Freud: Conscious vs. Unconscious


a. The conscious mind denotes what we are aware of.


b. The unconscious mind denotes thought or experiences that have been 

               repressed or wishes we cannot carry out for ourselves. They come 

               out in unseen ways and disguised forms.

E. Aristotle

     1. In his treatment of cause and effect, he distinguishes four separate 

          senses in which something is said to be the cause of something else.


a. Efficient


c. Formal                 


b. Material 


d. Final

     2. In regard to human nature, the efficient and final causes serve as the 

         focus.


a. Efficient cause: That which makes something happen


b. Final Cause: The End or purpose that makes something or be the case.
     3. How do the four causes help to distinguish men from animals?


a. Rational includes a mastery of language, articulate sense of time, an 

              ability to contrast regularities from incongruities.


b. Rationality includes the effective flourishing of the organism


c. For him, rationality concentrates on what normally obtains and makes 

              possible effective functioning of the human organism.

     4. Aristotle does not believe that a life devoted to pleasures or in which 

         honor or prestige are central will amount to eudaemonia or “well being”


a. The best kind of human life will feature not only the possession but 

              the activation of the virtues, both moral and civic.


b. The most highly regarded virtues are the intellectual virtues which 

              require excellence in contemplative areas, such as philosophy and 

              mathematics.
